Converting Linear Equations (A)

Ot

-

9.

Convert standard to slope-intercept forms.

. Standard form: 10z — 7y = —8 2

Slope-intercept form:

3. Standard form: x 4+ 6y = —2 1.

Slope-intercept form:

. Standard form: 3z 4+ 12y = —8 6.

Slope-intercept form:

. Standard form: 11z — 8y = 3 8.

Slope-intercept form:

Standard form: 10x — 12y = —4 1

Slope-intercept form:

. Standard form: 8 +y = 9

Slope-intercept form:

Standard form: 4x + 3y = 9

Slope-intercept form:

Standard form: x 4 2y = —8

Slope-intercept form:

Standard form: 4z + 5y = 4

Slope-intercept form:

0. Standard form: 3x —y =9

Slope-intercept form:
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Converting Linear Equations (A) Answers
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9.

. Standard form: 10x — 7y = —8

Convert standard to slope-intercept forms.

[N}

Slope-intercept form: y — 1—701‘ + %

. Standard form: x 4+ 6y = —2 4.
Slope-intercept form: y = —%ZC — %
. Standard form: 3z + 12y = —8& 6.
Slope-intercept form: y = —ix — %
. Standard form: 11z — 8y = 3 8.
11 3

Slope-intercept form: y = T — 2

Standard form: 10z — 12y = —4 10

. cq — O 1
Slope-intercept form: y — 6T+ 3

Standard form: 8x +y =9

Slope-intercept form: y = —8x + 9

Standard form: 4x + 3y = 9

Slope-intercept form: y = —%L‘ + 3

Standard form: x 4 2y = —8

Slope-intercept form: y = —%LU —4

Standard form: 4z + 5y = 4

Slope-intercept form: y = —%x + %

. Standard form: 3z —y =9

Slope-intercept form: y = 3x — 9
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9.

Convert standard to slope-intercept forms.

. Standard form: 6x — 9y = —2

Slope-intercept form:

3. Standard form: 10x — 8y = —2

Slope-intercept form:

. Standard form: 122 — 3y = 8§

Slope-intercept form:

. Standard form: 3z + 3y = —12

Slope-intercept form:

8.

Standard form: 11z — 4y = —9

Slope-intercept form:

10

Standard form: x — 5y = —11

Slope-intercept form:

Standard form: 8x — 8y = 9

Slope-intercept form:

Standard form: 12z 4+ 11y = 10

Slope-intercept form:

Standard form: 9 + 8y = 8§

Slope-intercept form:

. Standard form: 4x + 2y = 7

Slope-intercept form:

Math-Drills.com
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9.

. Standard form: 10z — 8y

Convert standard to slope-intercept forms.

. Standard form: 6x — 9y = —2

Slope-intercept form: y — %x + %

Slope-intercept form: y = gl’ + zll

. Standard form: 122 — 3y = 8§

Slope-intercept form: y = 41 — %

. Standard form: 3x 4 3y = —12

Slope-intercept form: y = —x — 4

Standard form: 11z — 4y = —9

: c g — 11 9
Slope-intercept form: y = 7 + J

[N}

8.

10

Standard form: x — 5y = —11

O =
&
_|_

('.7!‘

Slope-intercept form: y =

Standard form: 8x — 8y = 9

Slope-intercept form: y = = — %

Standard form: 12z 4+ 11y = 10

Slope-intercept form: y = —%Qj + %

Standard form: 9 + 8y = 8§

Slope-intercept form: y = —%x +1

. Standard form: 4x + 2y = 7

Slope-intercept form: y = —2x + %
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9.

Convert standard to slope-intercept forms.

. Standard form: x — 9y =7

Slope-intercept form:

3. Standard form: 6z — 8y = —11

Slope-intercept form:

. Standard form: 10z — 12y = —4

Slope-intercept form:

. Standard form: 6 — 9y = 9

Slope-intercept form:

8.

Standard form: 6x — 3y = 6

Slope-intercept form:

1

. Standard form: 12z 4+ 10y = 3

Slope-intercept form:

Standard form: 8x +y = —5

Slope-intercept form:

Standard form: 4o + 12y = —6

Slope-intercept form:

Standard form: 9z + 4y = —4

Slope-intercept form:

0. Standard form: 9z — 10y = —12

Slope-intercept form:
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Converting Linear Equations (C) Answers

Convert standard to slope-intercept forms.

1. Standard form: z — 9y =7

Slope-intercept form: y — %x — g

3. Standard form: 6x — 8y = —11

Slope-intercept form: y = ﬁl’ + %1

5. Standard form: 10x — 12y = —4

LW

Slope-intercept form: y = gaf +

7. Standard form: 6 — 9y = 9

Slope-intercept form: y = %x —1

9. Standard form: 6x — 3y = 6

Slope-intercept form: y = 24 — 2

2. Standard form: 12z 4+ 10y = 3

Slope-intercept form: y = —ggc + 1%

4. Standard form: 8x +y = —95

Slope-intercept form: y = —8x — 5

6. Standard form: 4z + 12y = —6

Slope-intercept form: y = —%LU — %

8. Standard form: 9x 4+ 4y = —4

Slope-intercept form: y = —%x —1

10. Standard form: 9 — 10y = —12

9

Slope-intercept form: y — RS + g
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9.

Convert standard to slope-intercept forms.

. Standard form: 9z 4 6y = 6

Slope-intercept form:

3. Standard form: x 4 6y = 11

Slope-intercept form:

. Standard form: 11x — 6y = 4

Slope-intercept form:

. Standard form: 11z + 12y =4

Slope-intercept form:

8.

Standard form: 92 + 5y = 10

Slope-intercept form:

10

Standard form: 4o + 11y = 12

Slope-intercept form:

Standard form: 2x + 7y = —3

Slope-intercept form:

Standard form: 2z + 3y = —10

Slope-intercept form:

Standard form: 6x — 10y = —8

Slope-intercept form:

. Standard form: 5x 4 2y = —4

Slope-intercept form:
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9.

Convert standard to slope-intercept forms.

. Standard form: 9z 4 6y = 6

Slope-intercept form: 1 = —%x +1

. Standard form: x + 6y = 11

Slope-intercept form: y = —%ZC + Lbl

. Standard form: 11x — 6y = 4

Slope-intercept form: y = %Qf — %

" Standard form: 11x 4+ 12y =4

Slope-intercept form: y = —%x + %

Standard form: 92 + 5y = 10

Slope-intercept form: 1 = —g:): + 2

[N}

8.

10

Standard form: 4o + 11y = 12

Slope-intercept form: y — —%x + %
Standard form: 2z + Ty = —3

. o, 2, 3
Slope-intercept form: y — —5T =5
Standard form: 2z + 3y = —10
Slope-intercept form: y = —%x — %0
Standard form: 6x — 10y = —8

. . _ 3 4
Slope-intercept form: y = £ + =
. Standard form: 5x 4 2y = —4
Slope-intercept form: 1 = —%SL‘ — 2
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9.

Convert standard to slope-intercept forms.

. Standard form: z +y = —7 2

Slope-intercept form:

3. Standard form: x 4 2y = 10 1.

Slope-intercept form:

. Standard form: 2z — 11y = —11 6.

Slope-intercept form:

. Standard form: 22 — 12y = —6 8.

Slope-intercept form:

Standard form: 11z — 11y =1 1

Slope-intercept form:

. Standard form: bz + 6y = 5

Slope-intercept form:

Standard form: 7x —y = —9

Slope-intercept form:

Standard form: x 4+ 10y = 2

Slope-intercept form:

Standard form: 6z 4+ 3y = —11

Slope-intercept form:

0. Standard form: 9 + 9y = —5

Slope-intercept form:
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9.

Convert standard to slope-intercept forms.

. Standard form: x 4+ y = —7

Slope-intercept form: y = —x — 7

. Standard form: z + 2y = 10

Slope-intercept form: y = —%ZC +5

. Standard form: 2z — 11y = —11

Slope-intercept form: y = %:C +1

. Standard form: 2x — 12y = —6

Slope-intercept form: y = %x -+ %

Standard form: 11z — 11y =1

. 1
Slope-intercept form: y = o — 5

[N}

8.

10

Standard form: 5x + 6y = 5

Slope-intercept form: y — —%:U + %

Standard form: 7x —y = —9

Slope-intercept form: y = 72 + 9

Standard form: x 4+ 10y = 2

Slope-intercept form: y = —TIOZC + %

Standard form: 6z 4+ 3y = —11

Slope-intercept form: ¢y = —2x — %

. Standard form: 92 4+ 9y = —5

Nelldy

Slope-intercept form: y — —x —
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9.

Convert standard to slope-intercept forms.

. Standard form: * — 3y = 5

Slope-intercept form:

3. Standard form: 3z — by = —1

Slope-intercept form:

. Standard form: 6x + 6y = 9

Slope-intercept form:

. Standard form: 10x 4 2y = 12

Slope-intercept form:

8.

Standard form: 7x — 2y = 5

Slope-intercept form:

1

. Standard form: 4x + 10y = —1

Slope-intercept form:

Standard form: 3x + 8y = —3

Slope-intercept form:

Standard form: 5x — 2y = 2

Slope-intercept form:

Standard form: x + 12y = —5

Slope-intercept form:

0. Standard form: 6x + 9y =7

Slope-intercept form:
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Converting Linear Equations (F) Answers

Convert standard to slope-intercept forms.

1. Standard form: x — 3y = 5 2. Standard form: 4z + 10y = —1
Slope-intercept form: y — %x — g Slope-intercept form: y — —%:U — Tl()

3. Standard form: 3x — 5y = —1 4. Standard form: 3x + 8y = —3
Slope-intercept form: y = gl’ + % Slope-intercept form: y — —%:L‘ — g

5. Standard form: 62 4+ 6y =9 6. Standard form: dx — 2y = 2
Slope-intercept form: y = —x + % Slope-intercept form: y = gac —1

7. Standard form: 10z 4 2y = 12 8. Standard form: x 4+ 12y = —5
Slope-intercept form: y = —5x + 6 Slope-intercept form: y = —%QE — %

9. Standard form: 7x — 2y = 5 10. Standard form: 6x + 9y =7
Slope-intercept form: y — %1’ — g Slope-intercept form: y — —%SL‘ + g
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9.

Convert standard to slope-intercept forms.

. Standard form: x — 2y = 12

Slope-intercept form:

3. Standard form: 7z +y = —1

Slope-intercept form:

. Standard form: 2z — 6y = —11

Slope-intercept form:

. Standard form: 8¢ — 7y = —6

Slope-intercept form:

8.

Standard form: 3z — 9y = —12

Slope-intercept form:

1

. Standard form: 4z — 8y = 3

Slope-intercept form:

Standard form: 5z + 6y = 10

Slope-intercept form:

Standard form: 9z + 6y =7

Slope-intercept form:

Standard form: 9 — 2y = 11

Slope-intercept form:

0. Standard form: 122 — 12y =5

Slope-intercept form:
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Converting Linear Equations (G) Answers

Convert standard to slope-intercept forms.

1. Standard form: x — 2y = 12 2. Standard form: 4 — 8y = 3
Slope-intercept form: y — %x —6 Slope-intercept form: y — %x — g
3. Standard form: 7x +y = —1 4. Standard form: 5x + 6y = 10
Slope-intercept form: y = —7x — 1 Slope-intercept form: y — —%:L‘ + %
5. Standard form: 2x — 6y = —11 6. Standard form: 9z + 6y = 7
Slope-intercept form: y = Lo+ U Slope-intercept form: y = —3r+ T
3 6 2 6
7. Standard form: 8x — Ty = —6 8. Standard form: 9z — 2y = 11
Slope-intercept form: y = S48 Slope-intercept form: y = Iy — U
) 7 7 ) 2 2
9. Standard form: 3z — 9y = —12 10. Standard form: 12z — 12y =5
Slope-intercept form: y — %J’ + % Slope-intercept form: y — © — %
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9.

Convert standard to slope-intercept forms.

. Standard form: 12z — by = —8

Slope-intercept form:

3. Standard form: 9z + 11y = —4

Slope-intercept form:

. Standard form: 8x + 2y =7

Slope-intercept form:

. Standard form: bx — 12y = —H

Slope-intercept form:

8.

Standard form: 9z 4+ 12y = —12

Slope-intercept form:

1

. Standard form: 9x — 7y = 6

Slope-intercept form:

Standard form: 10z 4+ 7y = 6

Slope-intercept form:

Standard form: 3z + 6y = 9

Slope-intercept form:

Standard form: 4z + 8y = —1

Slope-intercept form:

0. Standard form: 10x + 4y = —2

Slope-intercept form:
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9.

. Standard form: 12z — by = —8

Convert standard to slope-intercept forms.

[N}

. Standard form: 92 — 7y = 6

Slope-intercept form: y — %x + % Slope-intercept form: y — %x — %
. Standard form: 9x + 11y = —4 4. Standard form: 10x + 7y = 6
: s — — 9. 4 : g — 10, 6
Slope-intercept form: y = —13 11 Slope-intercept form: y — T+ =
. Standard form: 8x + 2y =7 6. Standard form: 3z + 6y = 9
Slope-intercept form: y = —4x + % Slope-intercept form: y = —%LU + %
. Standard form: bx — 12y = —H 8. Standard form: 4o 4+ 8y = —1
Slope-intercept form: y = %QS + 1% Slope-intercept form: y = —%x — %
Standard form: 9z 4+ 12y = —12 10. Standard form: 10z + 4y = —2
Slope-intercept form: y — —%:E —1 Slope-intercept form: y — —%SL‘ — %
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9.

Convert standard to slope-intercept forms.

. Standard form: 3x — 3y = 12

Slope-intercept form:

3. Standard form: x — 11y = 3

Slope-intercept form:

. Standard form: 2z — 9y =1

Slope-intercept form:

. Standard form: 7x + 3y =7

Slope-intercept form:

8.

Standard form: 3x 4 3y = —7

Slope-intercept form:

1

. Standard form: x — 11y = —3

Slope-intercept form:

Standard form: 9z 4+ 10y = —1

Slope-intercept form:

Standard form: 4o + 8y = 3

Slope-intercept form:

Standard form: 3z + 4y = 1

Slope-intercept form:

0. Standard form: 4x — 6y = —6

Slope-intercept form:
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Converting Linear Equations (I) Answers
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A
O

Convert standard to slope-intercept forms.

. Standard form: 3x — 3y = 12

Slope-intercept form: y = = — 4

. Standard form: x — 11y = 3

Slope-intercept form: y = ﬁx — %

. Standard form: 2 — 9y = 1

Slope-intercept form: y = %:U — %
7. Standard form: 7Tx + 3y =7
Slope-intercept form: y = —%x + g
. Standard form: 3x + 3y = —7
7

Slope-intercept form: y — —x — 3

10

Standard form: x — 11y = —3

1

Slope-intercept form: y = 7% + 5

11

Standard form: 9z 4+ 10y = —1

Slope-intercept form: y — _1%/ — %

Standard form: 4o + 8y = 3
Slope-intercept form: y = —%LU + g

Standard form: 3z + 4y = 1

Slope-intercept form: y = —%x + i

. Standard form: 4z — 6y = —6

Slope-intercept form: 1 = %”L‘ + 1
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9.

Convert standard to slope-intercept forms.

. Standard form: 8x + by = 1 2. Standard form: 10x 4+ 10y = 5
Slope-intercept form: Slope-intercept form:
3. Standard form: 8z — 2y = —11 1. Standard form: 8x 4+ 8y = 8§
Slope-intercept form: Slope-intercept form:
. Standard form: 3x + 6y = 9 6. Standard form: bz + 4y = 3
Slope-intercept form: Slope-intercept form:
. Standard form: 10z — 8y = —4 8. Standard form: 5z + 8y = 6
Slope-intercept form: Slope-intercept form:
Standard form: 10z — 6y = —2 10. Standard form: 2z + 3y = —7
Slope-intercept form: Slope-intercept form:
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9.

Convert standard to slope-intercept forms.

. Standard form: 8x + by = 1 2. Standard form: 10z + 10y = 5
Slope-intercept form: y — —%x + % Slope-intercept form: y — —x + %

. Standard form: 8¢ — 2y = —11 4. Standard form: 8z + 8y = 8
Slope-intercept form: y = 4x + 171 Slope-intercept form: y = —x + 1

. Standard form: 3x + 6y = 9 6. Standard form: bz + 4y = 3
Slope-intercept form: y = —%ZC + % Slope-intercept form: y = —%x + %

. Standard form: 10x — 8y = —4 8. Standard form: 5z + 8y = 6
Slope-intercept form: y = gx + % Slope-intercept form: y = —%x + %
Standard form: 10z — 6y = —2 10. Standard form: 2z + 3y = —7
Slope-intercept form: y — %T + % Slope-intercept form: y — —%SL‘ — g
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